(=) T EH

B XHI024BE5A tr EHMR & 43t &

IR B H gw| 1B | 28 | 38 | 48 | 58 | 6B | 7A | 8A | 9A | 1CH | 118 | 128 | w4zt
1 |[BBHEEM NG BRZEH i 2 0 0 0 1 3
2 |F—BERELEBH # | 153 77 | 147| 127 20d 704
3 |g_faEisELsm # | 13| 12| 17| 18| 19 79
4 |peserimim # | 12 5 12 | 23 4 56
S *ﬁiﬁmi%i$ﬁ B % # | 0 0 0 0 0 0
6 |[BRSEMREHRESTEES z | 14 3 8 5 3 33
7 Em x| 0 0 0 0 0 0

(=) m&GEH

AR B8 | 1A | 28 | 38 | 4A |58 | 6A | 78 | 8A | 98 |1CH | 118 [ 12R | #zt
1 [SESMERRG (RokxR#BEETE) | # 1 0 1 1 0 3
2 | BHAEAN £ 6 4 0 0 1 11
3 |HEtb(exEEFERS,....) Y3 0 0 0 0 2 2

(=) EheEq

AR B8 ¥$) 1A | 2R | 3A | 4R | 5A | 6A | 7A | 8A | 9A |1CH | 118 | 128 | 4zt
1 | g2 4p:8 B ) % | 2075| 1482 1940 181p 1906 9215
2 |AM }—f’%:}é E & B % | 611 | 434| 531 533 603 2714
3 |[FME#EELE A % | 100¢| 71¢ | 85€ | 84z | 994 441¢
4 |EREREER * | 78 | 54| 84| 72| 90 378
5 |RETHERHE * 2 1 5 3 0 11
6 |EREETIERE * | 0 0 0 0 0 0
7 iﬂz(%ﬂ% CEH RRFELE)TIER 2| 6a| 21| 32 | 19 | 24 16¢
8 |EFHKEHIHIE x| 9 3 9 5 5 31
9 |[FTkE b HEES T % | 96 78 99 61 80 414
10 (£ % |30901 25249 34942 32296 35928 159244




